——
N = 0 &F AF Y 93 A A
20178 = 20 A LB H HM=AHE D
A MAYL
M gdE 243
oelr ASHE 84 X (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
M= A 0 19,503,347 16,286,596 3,216,751
Xl 300,000
Jl 672,375
= 530,467
Al 18,000,505
HEsdE 2435 7,180,665 6,021,283 1,159,382
Jl 672,375
o 530,467
Al 5,977,823
H=E 4 I 4,141,125 3,592,932 548,193
J| 140,235
o= 90,890
Al 3,910,000
HEiAExH 23 2212 5,880 15,380 A9,500
201 et | 2,880 2,880 0
01 AR 22l ] 2,880 2,880 0
OF=ZRAZAEUI FXNAIS A=Y S 2,880
203 SR F & 3,000 3,000 0
03 AIZH =X 25X H| 3,000 3,000 0
OAx= HEsHEAI 28 ¥ 9 3,000
MEHE ANEZA = 26,400 18,900 7,500
307 2iztol & 26,400 18,900 7,500
02 QIZIA AAIE E X 26,400 18,900 7,500
OMENS XNEX Es8XH| 26,400
M= & 2d3s03s XH 300,000 250,000 50,000
307 QI2t0| & 300,000 200,000 100,000
02 QI2tAAMAIE E =X 300,000 200,000 100,000
OouU-20 28 & 2sU3a XN& 300,000
HEse2ed S A& 17,100 17,100 0
307 2I2t0| ™ 17,100 17,100 0
02 QIZHBAAIE E X 17,100 17,100 0
OMELN RS A4 17,100
NF=ANMEE 29 MH 5,200 17,100 A 11,900
402 SI2FXHE0| & 5,200 17,100 A 11,900
01 CIZEXIEANSEXR (MMM E) 5,200 17,100 A 11,900
ONFANM=Z 29 WA 5,200
NF=ANM=EE 29 XS 684,000 610,371 73,629
307 giztol A 684,000 610,371 73,629
03 QIZIHEHESIHIEX 684,000 610,371 73,629
OdF=ANM=EE 298 XA 684,000
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A MAYL
HHM: HRANE 2435
oelr ASHE 84 X (el @2)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Pl 140,235
Al 30,000
307 212+0] & 170,235 0 170,235
J| 140,235
Al 30,000
02 QIZ2IAAAIE E X 170,235 0 170,235
O=20MYHEASHEH 29 L 20MYHEUS J|Bt
= 170,235
J| 140,235
Al 30,000
ALRAMA =4 XA 39,000 0 39,000
201 LBt 20,000 0 20,000
01 AP 22| H| 10,000 0 10,000
OAZ=AY 2t EE 10,000
03 A2 | 10,000 0 10,000
OAZxEZEees &I S 10,000
207 SO0 £ 19,000 0 19,000
01 | 19,000 0 19,000
OFFTALRNMY SAILAHHE 282 19,000
AUz 298 I 1,605,030 1,091,811 513,219
= 202,000
Al 1,403,030
Z0He M3 XA 46,000 32,970 13,030
301 Lt A= 10,000 10,000 0
11 JIEtE A= 10,000 10,000 0
oOd= & M=sUa =& 10,000
307 QI2t0| ™ 36,000 22,970 13,030
02 Q2B AMAIE E =X 36,000 22,970 13,030
odelt=L HOHC M= 25,000
o&et=T =012 H=sU3l 6,000
OXNtEX XMEOMC MEUHI 5,000
S M=+ 03 80,000 80,000 0
307 QI2t0| ™ 80,000 80,000 0
04 CIZ2tSHALALS B X 80,000 80,000 0
OMN3ba HESHH d=2=HU3 80,000
SIS ZE2H 2D MI2SHHAIOIZ2 LS 90,000 90,000 0
307 2Iz2t0| & 90,000 90,000 0
04 SIZ2HSHAAISH E & 90,000 90,000 0
OHM463 S M HZRE2I| H=2SHHAIOIS
CH &l 90,000
HIAFHANLLRAUS 30,000 30,000 0




S RS = Faig=a i,
Yy MSNE 245
2 M 29 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 30,000 30,000 0
04 DI2HHALALSE E X 30,000 30,000 0
OHM11a dIAFAL=AUS 30,000
Hd=22E IFMBAZ=US 200,000 120,000 80,000
< 50,000
Al 150,000
307 glz2+ol & 200,000 120,000 80,000
< 50,000
Al 150,000
04 QIZFHALAIH B = 200,000 120,000 80,000
OEF=2EZ =HNEHAZUS 200,000
< 50,000
Al 150,000
S8 =8 8= 203 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
02017 *+E8=x& =283 20,000
d=F =20t =2 -4 s iU 77,000 40,000 37,000
< 12,000
Al 65,000
307 gl2tol & 77,000 40,000 37,000
< 12,000
Al 65,000
04 DIZHHALALSE 2 X 77,000 40,000 37,000
OXFAl S=0tSH &==U IO 77,000
< 12,000
Al 65,000
HEgsitg A= 2A=24i3 40,000 0 40,000
< 20,000
Al 20,000
307 glz2tol & 40,000 0 40,000
< 20,000
Al 20,000
04 QIZFHALAIH B = 40,000 0 40,000
O0=geiteg 8= 2=4dUs 40,000
< 20,000
Al 20,000
SHSOISH RLMEBAS 2 203 40,000 40,000 0
< 5,000
Al 35,000
307 21201 A 40,000 40,000 0
< 5,000
Al 35,000
04 DIZHHALALSE E X 40,000 40,000 0




2N
X ZH -
L= B

el

X3 - e (32 il 2
O=0ISHY =¢ 40,000
5,000
35,000
HF=AIEH BR20U3 6,000 6,000 0
307 QI2t0| ™ 6,000 6,000 0
04 QI2SHALAIE B = 6,000 6,000 0
OHMB63 H=AIEH U3 6,000
HdFAIEH =403 5,000 4,000 1,000
307 QI2t0| ™ 5,000 4,000 1,000
04 QI2tSHALAIE E &= 5,000 4,000 1,000
OM143 H=AIE 5,000
HFAEH M=22ESS0! 9,500 9,500 0
307 212t01 & 9,500 9,500 0
04 QIZHSHAFAIRHE 2 X 9,500 9,500 0
ONM243 & =AIH 9,500
HFEAEI RS NEE 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
OHM93l MFAIED 5,000
FAEH SEUHSHHR2AS 10,000 10,683 N 683
307 QI2t01 ™ 10,000 10,683 N 683
04 QI2SHALAIE E = 10,000 10,683 A 683
OM21g E=AIE S 2UE 10,000
HdFAIEH =223 17,100 17,100 0
307 QI2t0| ™ 17,100 17,100 0
04 QIZ2tSH AFAFS B2 = 17,100 17,100 0
OHM163] & F A& HN=2H U3 17,100
HFAEI HESH U3 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
OHM243 MFAIEI SHELUS 5,000
HFAIED M2EHEHZ2E 25,000 25,650 A 650
307 Q12t0| & 25,000 25,650 A 650
04 QIZISHALAIE B2 X 25,000 25,650 A 650
O HMI193] M FAlE 25,000
HF=AIEH OFAEES=IG U 6,000 6,000 0
307 QI2t0| M 6,000 6,000 0
04 QIZHSHALAIE B2 X 6,000 6,000 0




2A: MsAS D
M Neds 2435
@2 dA=x0s 29 N (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OM133 EF=AIZE =2 U3 6,000
HF=AIEH RECHS 5,000 5,000 0
307 QI2t0| & 5,000 5,000 0
04 QIZISHALAIE B2 X 5,000 5,000 0
OHM213 A=A SEU S 5,000
HFEAED ZESNE2UI 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 QI2tSHALAIE E &= 5,000 5,000 0
OHM21g dF=AHEI =ESWEFUI 5,000
MFAEI S2UI 9,000 9,000 0
307 QI2t0| M 9,000 9,000 0
04 QIZHSHAFAIRE 2 X 9,000 9,000 0
OM253 dF=AIXHI =2U3E 9,000
HFEAIEH BAESZUHE S72US 12,500 12,825 N 325
307 212t01 & 12,500 12,825 N 325
04 QIZHSHAFAIE 2 X 12,500 12,825 N 325
©2017 E=AI&H HAEZEUHE s572U3 12,500
HdF=AEH S&8=s7US 9,000 9,000 0
307 QI2t0| ™ 9,000 9,000 0
04 QI2SHALAIE B &= 9,000 9,000 0
OHM153 MFAIEH S& s72U3 9,000
HF=AIEH HUADS 4,000 4,000 0
307 QI2t0| ™ 4,000 4,000 0
04 QI2tSHALAIE E &= 4,000 4,000 0
O HMI243] HF=AI & HLACS 4,000
HFEAED BHAEEU S 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
OM203 dF=AI&EI| EHA NS 5,000
M=AIEH BHECIE U3 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
OHM73 E=AIEbH BHESUHD 5,000
N E=AIEH A 4,000 4,000 0
307 QI2t0| M 4,000 4,000 0
04 QI2tSHALAIE E &= 4,000 4,000 0
O M 158 & Z=AIZHH & AHS) 4,000




2N
X ZH -
L= B
el A

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
MdF=AEH EI00EISEHMUENE L ASBISSAH 20,000 20,943 N 943
307 212t01 & 20,000 20,943 N 943
04 DIZHSHAFAIRHE 2 X 20,000 20,943 AN 943
OM123 ®F=AI&EHH E20t0tEBISSHMUE N
2 ACIHIEEA 20,000
HFAIEI S&UE 4,500 3,000 1,500
307 QI2t0| M 4,500 3,000 1,500
04 DIZHSHAFAIRE 2 X 4,500 3,000 1,500
©2017 d=AIEDI| S&UE 4,500
MF=AIEH MEHFE AFHAUS 9,500 9,500 0
307 212t01 & 9,500 9,500 0
04 QI2FSH AFAFS B = 9,500 9,500 0
OM118 E=AIEH MEMSAAHAUS 9,500
HFTAIEH MEMESHESZLE0IEUHS 5,000 5,000 0
307 QI2t01 ™ 5,000 5,000 0
04 QIZFSHALAIE B2 X 5,000 5,000 0
OM133 HFAIEH MEMESHESZASOIE
3| 5,000
HFAIEH MEH=E I=ZUZEIIUSE 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
OHM133 MF ALY MEHE M= 2 =Y
J1th 3 5,000
HMF=AEH MEHN =Y 3 9,500 9,500 0
307 QI2t0| M 9,500 9,500 0
04 DIZHSHAFAIRE 2 X 9,500 9,500 0
OM273 dFAIEI| MESMFHESAE U 9,500
HFAISH MEHNSHIESAUT 4,000 4,000 0
307 2I2t0| & 4,000 4,000 0
04 QIZHSHAFAIE 2 X 4,000 4,000 0
OHM183 MF ALY MEHMSHISHAUS 4,000
HFAIEH MEHSE 3= 22U 9,500 9,500 0
307 QI2t01 & 9,500 9,500 0
04 QI2FSHALAIE E = 9,500 9,500 0
OM198 &E=AlEH MEMs &= 20U 9,500
HdFAEH MEMESIEZIZEES2US 10,000 11,115 A1, 115
307 QI2t0l M 10,000 11,115 A1,115
04 QI2tSHALAIE B &= 10,000 11,115 A1,115




S RS = Faig=a i,
M MEdE #4358
2 M 29 X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHM14s E=ATH MEMSEIZZSAU 10,000
H=AZH MEHSAINLSE 16,000 17,100 A1,100
307 glz2+ol & 16,000 17,100 A 1,100
04 QIZFHALAIH B = 16,000 17,100 A1,100
OHM123 MFAIZHH MEM=AIIU3 16,000
AT MdEBHSEISINER=0UHE 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 QIZFHALAIR B = 7,000 7,000 0
OM163 H=AIZH MEHSEIFI ==
3 7,000
HF=AZTH MENSAHINHSSHUHESTUHSE 9,400 9,405 N
307 21201 A 9,400 9,405 A5
04 QIZFHALAIH B = 9,400 9,405 ANS)
OHM143 HEFATH HENSE=UHSSSUHE
sTU3 9,400
H=ATH MEHSA=SXNAEINUSE 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH 2 = 5,000 5,000 0
OM6al HFAIHHH HEMSHESNHENUE 5,000
HFAIEH HdEBHSECLEHE 9,500 9,500 0
307 21201 A 9,500 9,500 0
04 QIZFHALAIE B = 9,500 9,500 0
OM102 MFAITH HEMSECLLIUHE 9,500
HFAEI HEBHSH2ANESHS 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OHM22sl MFAIZH MEMSHZAUAHNOESH
3| 5,000
HFAIEH dEHsd=L2UHE 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 QIZFHALAIH B & 4,000 4,000 0
OXM153 MFAITH HEHMSEIUWL2SUH 4,000
HFAZH SOt HEBHEZZ AU 13,600 13,680 A 80
307 gl2tol & 13,600 13,680 A80
04 DIZHHALALSE E X 13,600 13,680 A 80
OHM22s] MFAIEH SCINSHEMEZBAUE 13,600
dFAIEH dEHSHE=S3AAA0EWHE 9,500 9,500 0
307 glz2tol & 9,500 9,500 0




2AM: Mo
=ds

3 NENE 243
oS M =29 A
SH - BAEA) - MRAY - BES Of &t o il
04 QIZHHALALH B £ 9,500 9,500
OM13a HFAITH MEHSHE=S SO0
g sl 9,500
SN EMSE=WAZ2 401U 7,000 7,000
307 @lztol & 7,000 7,000
04 QIZHSHALALH 2 £ 7,000 7,000
QN4 HFAH dEMSE=HAZCH0IE
tHal 7,000
=AU HEH==Z0S 6,000 6,000
307 212t0l & 6,000 6,000
04 DIZHSHALALH 2 & 6,000 6,000
OR108] H=AIZH MENSSZUS 6,000
SFAFI| dEMSMAHE=S U2 7,000 7,000
307 glztol & 7,000 7,000
04 QIZHSHALALH B £ 7,000 7,000
ORN203 HFAFI dEMSHNYUHE=S =N
2| 7,000
=AY d2HS=s0ISUHE 4,000 4,000
307 212t01 ™ 4,000 4,000
04 DIZHSHALALH 2 & 4,000 4,000
ORMS52 HFAHH HEMSISINSU 4,000
AFASH dEMSZ2ESEHUE LU 5,000 5,000
307 glztol & 5,000 5,000
04 QIZHHALALH B = 5,000 5,000
Q2017 BFAIZHH SEHSE2ESHUHS Y
tHal 5,000
dFASH SEMSAAAIHU S 5,000 5,000
307 @lz2tol & 5,000 5,000
04 QIZHSHALALH 2 £ 5,000 5,000
ON43 HFAIZH SEHMSALUAIBHUSI 5,000
SAFAEH dEHSUHI=ZUE 4,000 4,000
307 glztol & 4,000 4,000
04 QIZHHAALE 2 = 4,000 4,000
ORN4s HF=AIZH SEHSLEI=ZUS 4,000
HFAIEH HEHFSOHEOINE 5,000 5,000
307 212t0 & 5,000 5,000
04 QIEHAALE 2 = 5,000 5,000
OM4s HFAZHH HEHMS20EOITE 5,000
AT HEHSHAALIHIIUZ 5,000 5,000




o o (@] (] o o o o o o (] o
o o o
[e] [ee] [e6]
n0 4| <]«
Klo
E
E=]
o o o o o o o o o o o o o o o o o o o o o o o o o o o
o o o o o o o o o o o o o o o o o o o o o o o o o o [ep]
o o [Ye) [Ye) [Ye) o o o (@] (@] (@] o o o [Te) Y] [Ye) o o o o o o o o o [aV]
o | o |o |o o | v |ov [N -V RN o | o |m o |o |o © | © | N~ NN o | v |wv %
LH3r
uilEd
k=S
o o o o o o o o o o o o o o o o (e} o o o o o o o o o o o o o o o o o o o
o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o [e2]
<<= | VIl e Qe le|e elelele vl vu vl IdN NI Q@ @ | |e (e <@«
[Te] o) ) D D D (o] Ye) Ye) Y] o) [V} N Al [aV] (ap) (ep] (ap) o D D D (o] [ N~ [ [ [ [ N~ N~ w w w Ye) %
aor
<
=3
i
~
or B0 d d
B b m i & ©
m.u < 2 2 3) o0
o ol
= omm bl bd =3 ok
* = i — " WH | %0 o i
= A il = = | H 80 W
W = o 010 010 RO =X 1 0H & | ™
- = o o ] i - Sl
= 5 W = = Ky | = | & or |+
=0} K4 K4 K K = K = | ™ 30 K4 Al K = | W
__|O¥. — xJ - E=) = o) _17 23
) = by by = iy i I 2| N M o
= KF 3] a1 = 31 3l sy W T 31 ol R
oF < < < W % W < o= | a < = S o
&) Rl < =< 50 < =& < = < = o e < < o =< i
Bl - Zl | %0 7|0 O - ) o I ) ®jo & |2 ® = Tl |t r| 3|
. - i = | = = | m | = N~ o | = N~ =l 2|2 |3 il + 1= 05| =5 vl
= 2 = S S S z|2|T sl=|2|Y 5 o Sl |e ol |2 U I >
R’ | = oy AR NN AN AR AR = | 20 A | A OR z || S| 2
RO ol © ol |al ol |al = |al|a ©O|s5|a |a O ol |[a) O o | a3l O« |a)l|lal O |al|al O|—
. N~ [l N [l e\ A0 |~ oy B0 [~ | oy ~ |y = |~ X~ [y P S NN =<
= 3 S1° S1|° w | S |° | B|° 3 |° | 3 |8 [ w8 Kb
o+ = = 20 ok > )




2AM: Mo
=ds

M MEdE #4358
2 M 29 X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 22,230 22,230 0
02 PIZHEHAHEE 22,230 22,230 0
ORMS53 HFAIEH L IS d=Al I(
orol)-ela s+Usl 22,230
SF=ATH M= dSTUHAMSUH 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OHM4z MFATH H2Hs ISTHAMSH
3 5,000
HFAZHYEHNE =420 10,000 10,260 A 260
307 21201 A 10,000 10,260 A 260
04 QIZFHALAIH B = 10,000 10,260 A 260
OHM4zl HF=ATH HEMF =4231870132
ECHg 10,000
H=AZH MEH=E det2E2Z0H3 4,000 3,000 1,000
307 21201 A 4,000 3,000 1,000
04 QIZFHALAIH B = 4,000 3,000 1,000
OHMl4z H=AEH d2H=s dct2==Z U 4,000
HEAZH MEHs d=32=403 5,000 3,000 2,000
307 21201 A 5,000 3,000 2,000
04 DIZHHALALSE E X 5,000 3,000 2,000
OHM3s MFAIZH MEH=E 2A=2AUH 5,000
FoHHSAZRHEA) d=0L=s10ea =8 2,500 2,500 0
307 gl2tol & 2,500 2,500 0
04 DIZHHALALSE E X 2,500 2,500 0
OHM178 2RI 2I| d30d=20
3 =& 2,500
HF=ANAE S T SSIHLULANSE 2,500 2,500 0
307 21201 A 2,500 2,500 0
04 DIZFHALALSE E X 2,500 2,500 0
OHM16a EF=AAS2 & SSAHLIATS 2,500
stute M=AIEH AIZ=&HO02U 3l 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
ONB8al BHtEY HFATH AZE=H0oFRHS 5,000
H=AZH e 2 SRAMHAHNNE2UE 4,000 3,500 500
307 glz2+ol & 4,000 3,500 500
04 QIZFHALAIH B = 4,000 3,500 500




2AM: Mo
=ds

M Mg 2435
2 M 29 X (Sl & &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OM92l HFAIHE O X RFREMEANES
thal 4,000
dF=AETH =S W 3,000 2,500 500
307 gl2tol & 3,000 2,500 500
04 DIZHHALALSE E X 3,000 2,500 500
OM143 H=AZH SH=2 U3 3,000
A 24 MEMSE AU 2,500 2,500 0
307 glz2tol & 2,500 2,500 0
04 QIZFHALAIH E = 2,500 2,500 0
02017 =Al 24 MEHSE U 2,500
A3 0ctR2ESZHse =H 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 QIZFHALAIH B = 2,000 2,000 0
OX=0ct2ESEZUs & 2,000
2017 dexs 2eol M ¥ S¢S 3,350 3,350 0
307 21201 A 3,350 3,350 0
04 DIZFHALALSE E X 3,350 3,350 0
02017 MEXMS2AU0/YME L SLUE 3,350
FAaE 2 S Watermanship program 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DIZHHALALSE E X 3,000 3,000 0
O&A~E Y st Watermanship program 3,000
7R02sEZ2NY 23 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
04 QIZFHALAIH E = 3,000 3,000 0
o7BRsZz Y B3 3,000
SA=EEII2SY J=ZLE Hx E ANHES 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 QIZFHALAIH B = 2,000 2,000 0
OBYLEYIISS9 JIx=E A L AHES 2,000
s gdadsis &8 20,000 0 20,000
307 21201 A 20,000 0 20,000
02 It S AHE L 20,000 0 20,000
Od= HddaHsUlz &d 20,000
Ol &St #A0t0tHtS =AU S 25,650 0 25,650
307 gl2tol & 25,650 0 25,650
02 It HAMHE L 25,650 0 25,650




K SEED)
= - 4 14
SN FH-SA(EN) - MBAY - BES e HlnE2
OO0l &St MI30I0IHIS d= 25,650
OtAIOHE Il =013l 105,000 105,000
< 5,000
Al 100,000
307 21201 A 105,000 105,000
< 5,000
Al 100,000
04 QIZFHALAIH B = 105,000 105,000
OOFAIOHE T o W= 0H3) 105,000
< 5,000
Al 100,000
YD SBELRAIOIE H423/KBSHH M2 &3l 105,000 105,000
< 5,000
Al 100,000
307 21201 A 105,000 105,000
< 5,000
Al 100,000
04 DIZHHALALSE E X 105,000 105,000
OLFE S HIUMIHIIE H423/KBSHH M =cll=
e 105,000
< 5,000
Al 100,000
HESZAEIH AAHAMEEIZUZ 100,000 100,000
< 50,000
Al 50,000
307 21201 A 100,000 100,000
< 50,000
Al 50,000
04 DIZHHALALSE E X 100,000 100,000
ONM=ZSZAIEIE NMANZTEIZUS 100,000
< 50,000
Al 50,000
HEXHEHANSHE HF=Al W= 50,000 50,000
S 10,000
Al 40,000
307 glz2tol & 50,000 50,000
< 10,000
Al 40,000
02 It M AHE L 50,000 50,000
OX=XNHMEMHAMSHE & 50,000
= 10,000
Al 40,000
etzaeszy 82 22038 60,000 60,000
= 25,000
Al 35,000




S RS = Faig=a i,
M MEdE #4358
2 M 29 X (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 60,000 0 60,000
< 25,000
Al 35,000
04 DI2HHALALSE E X 60,000 0 60,000
OlHst=Z &l ¥=2 =8 W3l 60,000
< 25,000
Al 35,000
HFAIEH MEMs I3 thal 3,000 0 3,000
307 2I2t0l A 3,000 0 3,000
04 QIZFHALAIH B = 3,000 0 3,000
OEF=AIZHY MEXN= IIA=ZHS 3,000
=32 0tolAGHIITHE 10,000 0 10,000
< 10,000
307 21201 A 10,000 0 10,000
< 10,000
04 QIZFHALAIH B = 10,000 0 10,000
OX=ZUSR 0t0lAdtIIHE] 10,000
< 10,000
Z0f 2l OOl AGHIICH = 10,000 0 10,000
= 10,000
307 2Iztol ™ 10,000 0 10,000
< 10,000
04 DIZHHALALSE E X 10,000 0 10,000
OXOHC!l Ot0lABHIICHEI 10,000
< 10,000
A= 2 E072Y d30Ue SRS 15,000 0 15,000
307 glz2+ol & 15,000 0 15,000
02 RIZFE MM E X 15,000 0 15,000
Od= 2|07t dIUs EHEXE 15,000
MErs 2483 XA 1,434,510 1,336,540 97,970
| 532,140
= 237,577
Al 664,793
MEHswsd 29 158,300 158,300 0
< 47,490
Al 110,810
307 21201 A 158,300 158,300 0
< 47,490
Al 110,810
02 QIAHFAAFEX 158,300 158,300 0
odaENsuns 29¢ 158,300
= 47,490
Al 110,810




S RS = Faig=a i,
g MsdE 2435
Sl MBHS LS AW CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
QUM SNEX 25X 204,864 195,264 9,600
J| 102,432
Al 102,432
307 gl2tol & 204,864 195,264 9,600
J| 102,432
Al 102,432
02 It HAHE L 204,864 195,264 9,600
OYBtMEHSXNA 2K 204,864
J| 102,432
Al 102,432
HEAMMEWSNEZA 25X 179,256 170,856 8,400
J| 89,628
Al 89,628
307 glz2+0l & 179,256 170,856 8,400
J| 89,628
Al 89,628
02 HAHFHAANGEEE 179,256 170,856 8,400
OHZMMHMENECLN s 179,256
J| 89,628
Al 89,628
MEHE S35 =221 29 128,400 128,400 0
< 38,600
Al 89,800
307 21201 A 128,400 128,400 0
< 38,600
Al 89,800
02 It S AMHEL 128,400 128,400 0
odEis 302 221 29 128,400
= 38,600
Al 89,800
HEHSZE 29 231,090 269,980 38,890
S 69,327
Al 161,763
307 glz2tol & 231,090 269,980 38,890
< 69,327
Al 161,763
02 It M AMHEE 231,090 269,980 /38,890
odEr=szd 29 231,090
= 69,327
Al 161,763
MEHE 2F RAE=> 7,000 7,000 0
201 LBt2H| 7,000 7,000 0
02 222 7,000 7,000 0
odaxx 2RI 2= 7,000




2M: MK

&
Yy MSNE 245
ool dads 243 N2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
St SOHAE 25,200 18,900 6,300
J| 10,800
< 3,600
Al 10,800
301 gtE L= 25,200 18,900 6,300
J| 10,800
< 3,600
Al 10,800
01 A8l EEH 25,200 18,900 6,300
Ostds0 25,200
J| 10,800
< 3,600
Al 10,800
AEZIAHM0IEA X 470,400 357,840 112,560
J| 329,280
< 70,560
Al 70,560
301 et a = 470,400 357,840 112,560
J| 329,280
< 70,560
Al 70,560
01 A3l 2 & & 24 470,400 357,840 112,560
OAEZ=H 470,400
J| 329,280
< 70,560
Al 70,560
CHetol=et &8 30,000 30,000 0
< 8,000
Al 22,000
307 21201 A 30,000 30,000 0
< 8,000
Al 22,000
02 IZtE S AIHE L 30,000 30,000 0
Olfstoloet 28 MEH=sD g =24 30,000
< 8,000
Al 22,000
s 243 12,266,314 10,181,893 2,084,421
X 300,000
Al 11,966,314
ME&sEAd XA 12,266,314 10,181,893 2,084,421
X 300,000
Al 11,966,314
HMSAL 2t Al 8,213,714 7,652,093 561,621
309 MEZ 7,777,514 7,068,093 709,421
01 AL - B& 7,777,514 7,068,093 709,421
OMSAIE 7,777,514




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
404 SASHTEZHES 436,200 584,000 A 147,800
01 SAt- B2 E= 436,200 584,000 A 147,800
OMSAL2E ALXE 436,200
MEAL 21222 300,000 300,000 0
401 A& HIZ 201 Y] 300,000 300,000 0
01 A& HI 300,000 299,000 1,000
OMSsSAE 22 300,000
HEIEANLE NA(SUMSK) 1,000,000 1,000,000 0
Xl 300,000
Al 700,000
401 AIEHI L 201 1,000,000 1,000,000 0
Xl 300,000
Al 700,000
01 A& HI 997,000 997,000 0
OsUNSsAE =4 997,000
Xl 299,000
Al 698,000
03 AlE S THHI 3,000 3,000 0
OsSUHSEAE =4 3,000
Xl 1,000
Al 2,000
HEALdES 3238 849 35,000 283,000 A 248,000
401 Al HI L2 THHI 35,000 283,000 248,000
01 A& HI 35,000 283,000 A 248,000
Ot =22 14 23S 35,000
HMEAE X2l 485,600 5,600 480,000
201 Let24d] 485,600 5,600 480,000
02 =24l 485,600 5,600 480,000
OX ==X HIIZ 5,600
OHINEISE Ha3 427,000
OHUN=E2 RS 53,000
U-20 Chdl AIEE B+ 500,000 0 500,000
401 Al HI K 2018 500,000 0 500,000
01 A& HI 498,500 0 498,500
OU-20 THHl AIEE 2= 498,500
03 A& =2 THHI 1,500 0 1,500
OU-20 tHHl AI8E 2= 1,500
S2HSAE HES N2 (HESH) 1,000,000 0 1,000,000
401 AlEHI 22 0hHI 1,000,000 0 1,000,000
01 A& HI 987,000 0 987,000




S RS = Faig=a i,
g s 243
g2l MsASAE XS (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONOIEE HEFE HES+ ALY 987,000
02 Zeltl 10,000 0 10,000
OHNOIEE HEFE HE>= A 10,000
03 AlE 2 THHI 3,000 0 3,000
OJNOIEE HEFE HES+ ALY 3,000
FEZTFIE B . BL3A 732,000 0 732,000
401 Al HIZ 201 8] 732,000 0 732,000
01 A& HI 720,000 0 720,000
OEEZIEIE E== 2L 3A 720,000
02 Zteltl 10,000 0 10,000
OEEZZIE B B3 10,000
03 A& S THHI 2,000 0 2,000
OEEZIIE E= 2L 3A 2,000
HAE2AZH(MSaS D) 56,368 83,420 A 27,052
Jl23dl (M= at ) 56,368 83,420 A 27,052
JlEdul(Msag ) 56,368 83,420 A 27,052
201 Let2d] 27,208 57,020 229,812
01 At 22l 22,208 52,020 229,812
O g+t 12,800
O= &l 9,408
02 =224l 5,000 5,000 0
O Xt& & Byl 5,000
202 4Hl 24,960 23,400 1,560
01 S LHOIYI 24,960 23,400 1,560
OJIegdRF=& 24,960
203 R =&t 4,200 3,000 1,200
04 FN2ELRZ=TH| 4,200 3,000 1,200
ORM2IYRFLH 350,000& 128 4,200

_20_




